> sonni<-read.table("O:\\sekamallit\\aineistot\\mulli66", header=T)

> names(sonni)

[1] "nro"  "y"    "t"    "rotu"

> library(nlme)

> sonni<-groupedData(y~t|nro, data=sonni)

> attach(sonni)

> table(t)

t

  1   2   3   4   5   6   7   8   9  10  11  12 

123 182 204 206 207 207 208 208 208 208 208 208 

>

> la<-gls(y~factor(rotu):factor(t)-1, data=sonni)

> summary(la)

Generalized least squares fit by REML

  Model: y ~ factor(rotu):factor(t) - 1 

  Data: sonni 

       AIC      BIC    logLik

  20951.09 21095.18 -10450.55

Coefficients:

                             Value Std.Error   t-value p-value

factor(rotu)1:factor(t)1   57.4578  2.205017  26.05777       0

factor(rotu)2:factor(t)1   54.4500  3.176297  17.14261       0

factor(rotu)1:factor(t)2   69.1690  1.685803  41.03030       0

factor(rotu)2:factor(t)2   77.1750  3.176297  24.29716       0

factor(rotu)1:factor(t)3   97.5793  1.568661  62.20545       0

factor(rotu)2:factor(t)3  108.7750  3.176297  34.24586       0

factor(rotu)1:factor(t)4  131.8072  1.559183  84.53610       0

factor(rotu)2:factor(t)4  144.2750  3.176297  45.42239       0

factor(rotu)1:factor(t)5  169.3713  1.554508 108.95493       0

factor(rotu)2:factor(t)5  185.1500  3.176297  58.29115       0

factor(rotu)1:factor(t)6  207.7066  1.554508 133.61569       0

factor(rotu)2:factor(t)6  225.3750  3.176297  70.95527       0

factor(rotu)1:factor(t)7  245.0714  1.549874 158.12344       0

factor(rotu)2:factor(t)7  264.2500  3.176297  83.19437       0

factor(rotu)1:factor(t)8  281.0655  1.549874 181.34730       0

factor(rotu)2:factor(t)8  299.2750  3.176297  94.22136       0

factor(rotu)1:factor(t)9  315.5060  1.549874 203.56876       0

factor(rotu)2:factor(t)9  333.5500  3.176297 105.01223       0

factor(rotu)1:factor(t)10 346.9464  1.549874 223.85459       0

factor(rotu)2:factor(t)10 365.6000  3.176297 115.10260       0

factor(rotu)1:factor(t)11 379.6548  1.549874 244.95845       0

factor(rotu)2:factor(t)11 395.6250  3.176297 124.55543       0

factor(rotu)1:factor(t)12 418.7143  1.549874 270.16019       0

factor(rotu)2:factor(t)12 428.2750  3.176297 134.83470       0

 …

Standardized residuals:

        Min          Q1         Med          Q3         Max 

-3.34890361 -0.57275846 -0.02518596  0.51201584  5.78862353 

Residual standard error: 20.08866 

Degrees of freedom: 2377 total; 2353 residual

>
> sonnit<-matrix(nr=0,nc=4, data=0)

> for (i in 1:208){

+ ti<-sonni[nro==i,3]

+ if (78==sum(ti))sonnit<-rbind(sonnit,sonni[nro==i,])}

> dim(sonnit)

[1] 1284    4

> dim(sonni)

[1] 2377    4

> table(sonnit$t)

  1   2   3   4   5   6   7   8   9  10  11  12 

107 107 107 107 107 107 107 107 107 107 107 107 

>
> lab<-gls(y~factor(rotu):factor(t)-1, data=sonnit)

> summary(lab)

Generalized least squares fit by REML

  Model: y ~ factor(rotu):factor(t) - 1 

  Data: sonnit 

       AIC      BIC    logLik

  11120.18 11248.65 -5535.091

Coefficients:

                             Value Std.Error   t-value p-value

factor(rotu)1:factor(t)1   52.7463  2.302640  22.90687       0

factor(rotu)2:factor(t)1   54.4500  2.980117  18.27109       0

factor(rotu)1:factor(t)2   70.5373  2.302640  30.63324       0

factor(rotu)2:factor(t)2   77.1750  2.980117  25.89663       0

factor(rotu)1:factor(t)3   99.7612  2.302640  43.32471       0

factor(rotu)2:factor(t)3  108.7750  2.980117  36.50024       0

factor(rotu)1:factor(t)4  135.2836  2.302640  58.75152       0

factor(rotu)2:factor(t)4  144.2750  2.980117  48.41252       0

factor(rotu)1:factor(t)5  173.1642  2.302640  75.20247       0

factor(rotu)2:factor(t)5  185.1500  2.980117  62.12842       0

factor(rotu)1:factor(t)6  213.0000  2.302640  92.50253       0

factor(rotu)2:factor(t)6  225.3750  2.980117  75.62621       0

factor(rotu)1:factor(t)7  249.4328  2.302640 108.32474       0

factor(rotu)2:factor(t)7  264.2500  2.980117  88.67100       0

factor(rotu)1:factor(t)8  283.8955  2.302640 123.29134       0

factor(rotu)2:factor(t)8  299.2750  2.980117 100.42389       0

factor(rotu)1:factor(t)9  317.2836  2.302640 137.79124       0

factor(rotu)2:factor(t)9  333.5500  2.980117 111.92512       0

factor(rotu)1:factor(t)10 346.8955  2.302640 150.65124       0

factor(rotu)2:factor(t)10 365.6000  2.980117 122.67973       0

factor(rotu)1:factor(t)11 377.7910  2.302640 164.06868       0

factor(rotu)2:factor(t)11 395.6250  2.980117 132.75483       0

factor(rotu)1:factor(t)12 413.7015  2.302640 179.66402       0

factor(rotu)2:factor(t)12 428.2750  2.980117 143.71078       0

